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PART |

For each question from 1 to 30, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the correct oval {1, 2, 3 or 4) on the Optical Answer

Sheet. {30 x 2 marks)
1 Which of the following is/are possible sources of light energy for us to see at pight?
X Sun
A Moon
S Lighted candle
(28] B only
(X3 A and C only
@ B and C only
(]  Allof the above
2 Study the classification chart of 4 different matesials (A, B, C and D) below.

Material

h A

l Waterproof?

\

Flexible?
Yes No
C D

Which material is most suitable for making a towel?

M A
2 B
3 C
(4} D

{Go on to the next page)}



3

chemical potential energy ~———» electrical energy———— kinetic energy
+
heat energy
+
light energy
+

sound energy
The enerqy conversion shown above is most likely to be found in a
dynamo
calculator

(#  handphone
W microscope

Lucas looks through a bamboo pole as shown below.

‘<( —» { bamboo pole \k\l‘ IMIFFor

Lucas’ eye Direct ion of
Lucas’ vision

I
mirror

From the diagram above, which box{es) will Lucas see?

0  Aony
2} C only
&l A and B only
[t 4] B. C and D only

{Go on to the next page}



4 different loads (A, B, C and D) are being balanced using lever systems as shown below.

-

L3 | I LT 3T | | S N Y Y |

VAN /\ /N

Which of the following shows the correct positions of load B and C when they are in
balance?

|

(1) (2)

AN

3 4)

When 4 metallic objects were suspended in the air, the following observation was made.

C : |

Object A

Object B

Object C

Object D

Which of the following best describes the objects?

s ¥ 8

Otiect A ObjectB Object G Object D
Magnetic i Magnetic Magnetic
Material Magnet Material Material
Yo Magnetic "

Magget Material Magnet Magf\et
Magnetic . A

Material Magnet Magnet Magnet

M 3;1 of Magnetic Magnetic Materiaf

a9 Material Material Material |

(Go on to the next page)



7

Joe arranged a few domino blocks as shown below. He then pushed the first block and the

rest of the blocks toppled over.

First biock

This demonstrates that a force can

v, make a stationary object move
change the shape of an object
stop a moving object

C only

A and B only
A and C only
A, BandC

BaRX

The table below shows the amount of carbon dioxide in the atmosphere in 3 different years.

Year 1940 1990 2000
Carbon dioxide
(parts per million} 300 330 370

Which one of the following activities contributed most to this change?

()  Destruction of rain forests

V4] Use of non-biodegradable materials

) Dumping untreated sewage into rivers

o Increase in the amount of household refuse

{Go on to the next page)



9 Which one of the following animals will be least affected if the amount of dissoived oxygen
in the pond decreases?

(D (2)

3 ®

10 Which of the following can conduct heat?

" wind
ice water
aluminium
&0 Conly
&F  AandBonly
) BandConly
(1) A BandC

{Go on to the next page)
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Study the map below.

Key
—> - direction of flow

An environmentalist wanted to find out how much of the poliution in the river was due
directly to Factory X. At which 2 places should he collect samples of water from?

5
W

1and 3
1and 4
Zand 3
2and 4

Kim has a potted plant. She wants to obtain a leaf that does not contain starch. Which of
the following is the best way of obtaining such a leaf?

H
(2)
(3)
(4)

Do not put fertilizer in the soil.

Do not water the plant for a day.

Put the plant under a bright light in her room.

Keep the plant in a wooden cupboard for a few days.

{Go on to the next page)



13 Study the chart below.

herbivores

Which one of the following correct!
photosynthesis?

(M
(2)
3
4)

A

Yy

dead
remains

oxygen

carbon dioxide |«

trees

y identifies the processes of respiration and

Respiration Photosynthesis
A E
B C
E G
F D

(Go on to the next page)
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15

Lichens are organisms which are very sensitive to air pollution. The graph befow shows

how the distance from a power station affects the number of different types of lichen
growing.

Number of different types of

lichen growing

Distance from power station (km)

Which one of the following conclusions can be drawn from the graph above?

(1)
(2)
(3}
(4

Less lichens grow further away from the power station.
There are fewer types of lichen growing near the power station.
As the distance from the power station increases, air pollution increases.

The number of types of lichen growing decreases as the distance from the power
station increases.

When an ice-skater is skating on ice, which force(s) is/are acting on her skating shoes?

ER RS

S frictional
. gravitational
2% elastic

B only

A and B only
B and C only
A and C only

(Go on te the next page)
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16 The diagram below shows the animals and plants in a pond.

Based on the diagram, which of the following statements is/are cofrect?

A The birds form a population.

94 ‘FThe hydrillas form a population.

N The living things in the pond form a community.

A The living and non-living things in the pond form a community.

C only
B and C only
) A and D only

A, B and D only

{Go on to the next page)
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17 The diagram shows a branching key which can be used to classify living things.

Start here

Does it

yes have Jegs?

Does it
have a
shefl?

yes

) 4 snail earthworm
yes Q no
spider
Does it have
yes wo pairs of no
wings?
wasp housefly

Which one of the following questions should be placed in @7
W) Does it have six legs?
§ Does it have a skeleton?

Does it have two body parts?
ﬁg’f Does it have hair on its body?

{Go cn to the next page)
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18

Air

Paper

Glass

The above experiment was set up in which a piece of paper was pasted onto the inner

bottom surface of a glass. When the
the paper remained dry. Which prop

44
14
&y

o

19 Leonard did a study on 3 animals, S, T and U. He dre
tick () in the box when he made the observation. At

Air has mass.
Air occupies space.
Air cannot dissolve in water.

Air takes the volume of the container in which it is kept.

checkiist is as follows:

w a checklist and placed a
the end of his study, the completed

glass was forced upside down into the basin of water,
erty of air did this demonstrate?

Observation Animal S | Animal T | Animal U
Young resembles the aduit. v v v
Gives birth to young afive. v
3 stages in the life cycle. v v
Moults several times at one stage in its life cycle. v

Which of the following could be Animals S, T and U?

&y

-

[

Animal S Animal T Animal U
chicken frog horse
horse cockroach crocodile
chicken cockroach horse
cockroach | frog horse
A -1

{Ga on to the next page)
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20

Fu Ming wanted to find out if the size of the exposed surface area affected the rate of

evaporation. He prepared the set-ups using bowls of the same material. Which two set-
ups should he use?

Set-up J

100 mi of water

100 mi of water

Set-up M

100 mi of water

(1)
(2)
(3)
(4)

Jand K
Jand M
KandlL
L and M

{Go on to the next page)
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21

The chart below shows how some plants reproduce.

METHOD OF REPRODUCTION

A B c D
chill water chestnut moss begonia
lady's finger onion ladder femn African violet

potato plant morning gléry plant

In the classification chart above, which groups do the potato plant and the -
morning glory plant belong to?

potato plant morning glory plant
(M- ] A
) A B _
3 £ D
@ g4 c

{Go on o the next page)
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The graph below shows the distances of the orbitat paths of 3 planets, Q, R and S around
the Sun in our Solar System.

Distance of orbital path
(Kilometres)

F 3

Pianets of our
Solar System

Q R S

Which of the following statement(s} is/are true?

X Planet R is colder than Planet S.
X Planet S takes the shortest time to make an orbit around the Sun.
© Planet Q takes a longer time to make one revolution than Planet R.

A only
C only
A and B only
B and C only

8@@2

{Go on to the next page)
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23 The diagram shows 4 different kinds of cells.

Which of them are plant cells?

(1) AandC only
(2} AandD only
(3} BandD only
(4) B, CandD only

{Go on to the next page)

ib



24 Sammy observed some leaves and grouped them according to their characteristics,

Leaves of Plants

| o B

Sub-heading A Sub-heading B

Which of the following could be Sub-heading A?

{m Entire edge
(2) Jagged edge
3 Oval shaped
4 Heart shaped

25 Diagram A shows a cross-section of a stem and diagram B shows part of the human
circulatory system.

Diagram A Diagram B

" Which one of the foliowing is a function of both part X and part Y?

¢ Transports water

% Transporis blood

(xi Keeps the organism upright

{§1_ Keeps the surrounding cells at a constant temperature

{Go on to the next page)
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26

The diagram shows the human skeletat system.

Which of the following describes the function(s) of X?

EREE

=

To protect the spinal cord
To allow the body to move

X To protect the brain
:g/. To support the rib cage
5

C only

A and B only
A, B and D only
B, C and D only

{(Go on to the next page)
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27

The clips of a circuit card are tested with a circuit tester. The results are given in the table

below.
Clips tested Buib of circuit tester
AandB Does not light up
CandE Does not light up
AandF Lights up
Band D Does not light up
CandF Lights up

Which of the following shows the correct circuit card tested?

(1)

(2

(3)

(4)

{Go on to the next page)
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Ali and his friends prepared 3 set-ups and placed them in an open field from 7am to 7pm.
They monitored the concentration of oxygen in the set-ups every hour,

air tight Vi
_glass L plant
jar

'@f‘ — cockroach —— moist soil

Set-up A Set-up B Set-up C

At the end of the investigation, his friends made the following conclusions.

Sulin  : There was an equal amount of oxygen at 1pm in all the set-ups.
Ram : Set-up C had the most amount of oxygen at the end of the experiment.
Omar : There was more oxygen in Set-up B than C at the end of the experiment.

Which of Ali's friends wasfwere correct?
N Sulin only
{2) Omar only

(3) Cmar and Ram only
(4) Ram and Sulin only

The diagram shows a set-up to investigate the changes that occur when mealworms
respire.

protective test tube capitlary tube

soda lime to absorb
carbon dioxide

drop of red ink

mealworm

What will happen to the drop of red ink in the capillary tube and why?

>

Red Ink Reason
(1) remains where it was volume of air in test tube does not change
(2) moves towards the test tube carbon dioxide was taken in by the mealworms
(3) moves towards the test tube oxygen was taken in by the meaiworms N
{4} | moves away from the test tube oxygen was given out by the mealworms 0

{Go on to the next page)

U



30. An arfificial plant and a live plant were each placed into identical containers filled with

200ml of water. A layer of oil was poured into each container to prevent the water from
evaporating.

Container A Container B

The volume of water in each container was measured on the 1% and 7" day. Which of the
following sets of measurements is most likely to be correct?

Volume of water {ml) on Day 7
Container A Container B
(D 185 ‘ 175
(2) 175 - 1 200
3) 175 | 185
4 200 200
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PART II

For questions 31 to 46, write your answers in this booklet

The number of marks available is shown in brackets [ ] at the end of each question or part

question.

{40 marks)

31 The graph below shows the relationship between the load of different masses hung on an
8-cm long spring and its extension.

(a)

®

Extension of spring {cm)

20
18 .
14
12
o

10 >

8 .

6

4 >

. o

2 e

0 _J

0 20 40 60 T 80 100 120
Load hung on the spring {g)
Whatyis the length of the spring when a 70g load is hung on it? {1

State the relationship between the amount of load hung on the spring and the
extension of the, sprifig. [

{Go on to the next page)
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32

33

Gopal conducted an investigation on 3 types of simple machines and recorded the
following resuits.

Simple Load Effort (g) Distance travelled by | Distance travelled
Machine (q) 9 the load (cm) by the effort {cm)
A 50 70 15 8
B 60 40 9 12
C 80 30 14 7

(a) 'Which simple machine (A, B or C) uses the same principle as a door knob? Explain
your answer, Ry

(b)  Gopal's teacher said that Gopal might have made a mistake when he was
recording the result for one of the simple machines. Identify that simple machine
and explain your answer, (1]

A damselfly nymph uses its gills to breathe. Wilson wants to find out the rate at which the
gills of a damselfly beat in 3 different samples of water, A, B and C. He recorded his
results in the table below.

Water Sample Gill beats per minute
A 70
B 200
C 140
(a) Which water sample contains the most amount of oxygen? Give a reason for your
choice. {11
(b) What are the two sources of oxygen in the pond? [
{Go on-to the next page)
B-2 T
SCORE 4
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34 Sufri shone a torch at an object from 3 different directions A, B and C as shown below.

A

N\

\

C

@) Draw the shadows Sufri saw from direction A and B in the table below. The
shadow Sufti saw from direction C is drawn for you, [2]

Direction the torch was shining from Shadow Sufri saw

A

: A

) What is the important property of the object above that enables the shadow to be
formed? 1]

(Go on to the-rext page)
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Bacteria are used to make yogh
housewife took to prepare yoghurt in her kitchen.

urt from milk. The flow chart below shows the steps a

Heat 1 lifre of milk siowly in a pot over fire
until the milk boils.

I_%b
I Y

Has the milk started to boil?

|

Yes

+

Stop heating.

Leave the milk to cool to about 28°C.

No

:

Has the milk reached about 28°C?

!

Yes

v

Add yoghurt bacteria to the milk.

L

Cover mixture with a lid and keep mixture at

l about 28°C.
No
|“ .
' Is curd {yoghurt) formed?
Yes

4

Store the yoghurt in the refrigerator.

{Go on to the next page)
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36

Use the flowchart to answer the following questions.

(3  Why must the milk be heated at the beginning? {1
(b)  When are the yoghurt bacteria added to the milk? 1
(¢}  Whatis a suitable temperature for the yoghurt bacteria to m@ply? i1}

The graph below shows how much sugar is produced by a plant over a period of 4 days
when it is placed on a window sill.

a 15 -

ul

O

S

o

e 10 -

o :

¢ 4

S

- 5

w

n

o

w,

= . 7 J )
= gV__J L\ v L v

jos

! 2 pays 3 4

(a). Less Sugar was produced in Day 2. Describe a change in the environment that

cowld:have caused it. [1}

(b} Draw a line on the same graph above to show how much sugar would be produced

i the plant was kept under very bright light throughout the 4 days. [1}
{Go on to the ney{ page)
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37 Mark set up the investigation
materials (A, B, C and D).

Material A }
Materia§ = B=
Materiaic  [B—
Material D R\
: thumbtack
N & ‘wax

candle

He recorded the results below.

below to compare the heat conductivity of 4 different

Material

Time taken for the thumbtack to drop {min)

Q|0 (@ >

AN o

(@) Is Mark’s inye$tigation a fair one? Explain your answer.

(2]

{b) For the conclusions below, state ‘True’, ‘False’ or

boxes besitde each conclusion.

o) Material A is a better conductor of heat
than Material B.

(i) Material C is a better cond uctor of heat
T than Material D. )

‘Not Possible To Tell in the

[1]

{Go on to the next bage)
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38 George wants 1o compare two different soil samples, A and B, to find out which is
able to retain more water. He made use of the following materials. :

(a)  Explain how he would use each of the following. 2]

[)) Measuring cylinder:

(i) The timer ;

(b)  Why is the presence of dead plants and animals in the soil important to plants?  [1]

(Go on to the next page)
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39

The diagram shows the different stages in the life cycle of a flowering plant.

(a) - What two processes must occur at stage F for the plant to-progress to Stage A? I1j

(b)  What happens to the seed leaves at Stage C as the seedling grows taller? i1}

{c) Very often, a seedling struggles to grow as it competes for resources. What n_1ust
a mature adult plant do to increase its chances of having many peélthy seedlings?

]

(Go on to the next page)
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40 Allan fixed an inflated bafloon over a glass tube and placed his thumb over the
opening of the glass tube. He submerged it in a basin of water. He then removed his
thumb from the opening of the glass tube

Glass tube

Basin

Balloon

Water

(8) Describe two changes that could be observed when he removed his thumb from
the opening of the glass tube. {2

)

(i)

(b) Allan repeated the experiment using a balloon that was filled with an equal volume

of water. What did he observe when he removed his thumb from the opening of the
glass tube? ' 1

(Go on to the next page)
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41

Sally selected four material

choices and the corresponding reasons in the table below.

s A, B, C and D to make some products. She recorded her

Material Product and Reason
A To make swimming foats because it is flexible
B To make fishing weights because it is heavy
c To makes dresses because it is light and comfortable
D

To make artificial hip joints because it is light but strong

(a) Which material(s), A, B, C orfand D couid be metai(s)?

(b)

{1

Describe how Sally can carry out a test to confirm that Material D is strong.

(1]

(Go on fo the next page)
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42 The diagram shows a classification table for living things.

Living things

( Aritnats ) [______T ( Prants )

| i I
'S

backbone backbones

4 )
With Without | [ Flowering ) Non-flowering

I | |

(a) Wirite “fungi” in the correct box in the classification table.

(b) State the difference in the way that animals and fungi reproduce.

(1

t1

(Go on to the next page)
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43 The table shows members of Jenny’s family and a checklist of whether they have straight
or curiy hair.

Family member Straight hair Curly hair
Maternal Grandfather (Mother's father) : v
Matemal Grandmother (Mother's mother) v
Father : v '
Mother v
Brother v
Jenny v

In the diagram of the family tree below, identify the characteristics of the hair of the:
following family members:

* Matemal Grandfather

» Father

s Brother

s Jenny

Write 'S’ to represent ‘straight hair’ and write ‘C’ to represent "curly hair'. Write the letters
inside the boxes and circles. (21

Key

Male

O Female

(Go on to the next pade)
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44

Li Ting set up an investigation as shown below to find out whether the amount of light
affected the rate of bubbies produced by the hydrilla.

She repeated the investigation, each time increasing the number of lamps and recoided
the results in the graph below.

Number of bubbles

per minute 4
14 4-

o 1 2 3 4 Numberoflamps

(a)  How were the bubbles produced? 1

(b} What can Li Ting conclude about the relationship between the number of lamps

used and the rate of bubbles produced by the hydrilia? 1
(Go on to the nexft page)
SCORE 2
B-13
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45

Rita wanted to investigate what conditions are necessary for the germination of seeds.
She prepared 3 set-

ups as shown below and left them in a room with a temperature of
30°C.

Set-up A

(a) In which set-ups will the seeds germinate?

1

(®)  Explain your answer in (a). 1]
{c) What was the purpose of the layer of oil in each set-up? 1]
(Go on to the next page)
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46 The diagram shows an open circuil. The 3-way switch is made up of4 pins S, T, U and V.
A clip 1s connected to Pin V and can be moved to touch pins S, T angd U.

= ®

different
positions of the
3-way switch

{a) Draw in 4 wires in the diagram to show how the 3-way swilch can be cennected

to the bulbs so that we can move the dlip to light up any one of the 3 bulbs. {2
(b) What is the disadvantage of using a 3-way switch system in a home? M
THE END

SCORE 3




Anglo-Chinese (Junior) Primary School

Primary 6 Science Preliminary Exams (2006)

(ANSWER KEY)
SECTION A : (60 MARKS)
Qn no. Ans | Qn no. Ans | Qn no. Ans

1 2 11 1 21 1
2 3 12 4 22 2
3 3 13 3 23 2
4 2 14 2 24 2
5 4 15 2 25 1
6 3 16 2 26 4
7 3 17 1 27 4
8 1 18 2 28 2
9 1 19 3 29 3
10 4 20 2 30 2

SECTION B (40 MARKS)

Qn No. | Answers

3la 18.5cm

31b The greater the amount of load und on the spring, the greater the extension of

the spring.

32a

B, because like a door knob, B requires a small’s effort to overcome a g"rat;‘
load and the distance the effort travels is grater than the distance the load
travels.

32b

C, because even the its effort traveled a smaller distance than its load, it stifl
required a smaller effort to lift a greater load when the load shouid be grater
than the effort.

33a

A, because damselfly gills beat only 70 times per minute, therefore proves
more oxvgen was taken in one beat, and this tclls us that sample of water
contained the most oxygen.

33b

The two sources are aquatic plants and the air just above the water surface, J

Page | of 4
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34a

A) B)

———

34b The obiject does not allow light to pass through it.
35a The milk is heated to get rid of any harmful bacteria.
35b The bacteria are added after the milk has cooled to 28°C.
35¢ 28°C
36a The sun might have been blocked by come clouds. ]
36b

S

15 _|

JAVIVAVANEE.

37a No, because the materials are placed at different distance from the candie.

37b (i) | No
(i) | True
38a (i) | He would use this to measure the amount of water to pour into each soil
sample. ’
(ii) | Measure the time taken for a fixed amount of water to flow out from the soil.
38b The dead organisms, when decomposed, provide nutrients for the plants.

Pollination and Fertilisation.

Fﬂa
19b

The sced leaves will shrivel.

L39c

| The mature adult plant should disperse its seed over a large area.

‘ 40a (i) | The batioon would deflate.

(i)

The water level in the basin would decreasec.

[0

The balloon remains the same and the water would not change.

- Pagel nl‘ﬂr



Qn No. | Answers

41a

| Band D

i1b She should test how much weight it can withstand before it bends and
compare it with materials,
[ 42a Animals, Fungi, Plants J
42b Animals reproduce by giving birth to young alive or by eggs, whereas fungi
reproduce by spores
43a
OO
[
K
44a The bubble was produced when the hydrilla took in carbon dioxide and water
in the presence of light during photosynthesis and gave out oxygen.
44b The greater the number of lamps, the faster the rate of bubbles produced by
hydrilla.
43a Set-up C and B
45b Oxygen present in tap water and pond water but not present in the cooled
boiled water.
43¢ To ensure no oxygen enters the different types of water from the surrounding
| air.
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The disadv

antage is that you cannot switch on all the bulbs at one time.

46b
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